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A3 – BIM Modeling

1) What worked?

Laying out the building was fairly easy. The program reminds me of a more sophisticate or at least more detailed version of Google Sketchup. The instructiosn provided by prof. Mitchell were of a great help, and I tried the REVIT tutorial. They could have done a better job in clarifying the steps for uninformed users but their tutorials are not bad.

A clear advantage with Revit is the simplified layouts of various plans. You can easily define site plan layout, the topography is done with a blink of an eye (or close) and the walls are easily defined. You can even change or define the wall characteristics, define your beams, etc. I did not try the structural or mechanical version but guess that the design steps are simplified as well. Rendering, 3-D views and even walkthrough are additional features that make Revit appealing.
2) What did not work with program or instructions?

The instructions were clear, no problem there. The program however does permit complete flexibility. You cannot define points nor have superposing lines as you would in Sketchup. I tried to create an atrium and had a hard time cutting the roof. The roof cannot be customized, it may be possible but I could not figure it out. It is not easy to create slopes and stairs. 

3) Differences with AutoCAD?

You can get the same AutoCAD drawings but faster with less hurdle and actually have fun, but you do not have as much flexibility in your lines and shapes. Obviously, it takes a lot more knowledge to create shading with AutoCAD while it is easily done by Revit.

4) Advantages/disadvantages?

The program can help you create general plans for the building, then distribute them to different designers or any one involved with the building design or maintenance. I do not think it will require much training to master most features of Revit; the only disadvantage I can think of right now is accessibility. It is not guaranteed that all members of the design team will be able to afford the program, but this may be solved with converters being developed. 
